
Clue 4 Brackets 

Work out where the brackets should go to make each number 

sentence correct. The numbers in the brackets give the code. 

eg 5 x 3 + 2 = 25 
5 x (3 + 2)=25 
3 + 2 =5 = e 
 Numbers within brackets Letter 

6 + 7 X 2=26   

3 X 30 – 7=69   
2 × 6 − 5

4
=
1

2
 

  

2 x 26-7 =38   

10 + 4 ÷2 =7   
2+4

2×9+6
=
1

5
 

  

3 + 7 + 10 x 2=40   

3 x4 – 2 =6   

40 ÷ 2 + 3 =8   

5 + 5 + 9 x 2 = 38   

2 x 9 + 7 = 32   

9 x 2 + 2 + 1 = 45   

7 x 2 + 1 = 21   

3 + 5 x 10 + 10 = 103   

2 x 9 – 8 x 3 = 6   

12 – 9 ÷ 2 = 1.5   
3×10+2

18
=2 

  

20 -15 x 12 =60   

9 x 2 +1 + 1 =36    
 


